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The tenrlleretLrre belou rvhiclr certiliir
mirterials ale lntilerr.onrl!,netic anti above
rvhich ther, are paranri-lgrretic is callecl

(a) CLrrie tenrllel'atLre
(b) Neel tcnrileratLrre
(c) Weiss tenrpcratLrre
(tl) None o['the abttve

l. Trvo wires A arrd B ol tlre srrne rnalerial artd

leugth I aud 2L lrave raclir-rs r and 2r
respectivcl\ l'lre ratio of their specific
resistance r.i ill be.

(a) 1: 1

(b) 2: 1

(c) 4: 1

(d) none olthe abor,e

I The rrn.s value ol'a lritli ri,rrre rectilletl current
is 50 A lts rms valr-re fbr tirll wave
rectiflceti()n u,ourlci be

(a) 100 /
ttt) I00lrl2 A

(c ) 50/zr ,4

{d ) l0C/z ,4

-1. In ccll phone. &ntcnnrls rl'e

(a) Monopole
(b) Loops
(e t Helicrrl

1rl) Len:

-i. Two resistors 1?, and R2 give contbined
resistalrce of 4.5 Q when in series err-rd 1 f)
rr lren in prrr':rllel. tlte resiqt:irte es lre

(r) 2 l) ancl 2.5 o
(b) i O rntl 3.5 ()
(c) i.5 O and 3 ()
(d) 4 O anii 0.5 Q

6. As the apel'tlre area ol an ilntenna increases.

its gain

(a) increases
(b) decreases
(c) rerlains same
(d) behave unpredictabiy

7. A parallel plate capacitor has capacitance of
L0 pF. If the linear dimensions of tlie plates

are doLrbled and the separation between them

is also cloubled the valr-re ol the capacitor
would be .

(a) 50 pF
(b) 30 ,uF
(c) 5,aF
(d) Norre olthe above

B. A batter;, is connected to a resistance causing
a current of 0.5,4 in the circuit. The cllrrent
drops to 0.4,4 when an additiorral resistance of
5f) is connected irr series. The current will
drop to 0.2,4 when the resistance is fr-rfther

increasecl by

(a) 30 a
(b) 2s o
(c) 12 A
(d) 40 f)

9. The wavelength oI an electronragnetic wave

irtter rellection at angle on a sr-trlace.

(a) rerlains same as tlte wavelen-uth

perpendicular to the surrface

(b) remains same in tree space
(c) increases in actr-ral directiorr of

propagation
(d) decreases in actLral direction of

propagation



10. Anterrna ct)nrri.ronlr Lrsecl ltr nticror.r,ave littl<s

rs

(a ) loop unten na

(b) iog periodic antennil
(c) parabolic antenna
(d) rhorrbic antenna

I I . l'he base station ancl the mobile station ilt
ceilr-rlar rretu,orlis are {enerallv linked bv.

(a) skl rvave propagation
r b) ,,rtrtrrrti \\;l\ c p|Oparation
(c) r)rcLliLilrr rrrre p[ope,,atiotl
(t1 ) lirtc trl-siSltl i)r'oprlSrrtiorl

12. Cells trre connected in series to irrcrense
(a) Cirlrent rating
(b) Voltaee ratinu
(c) Botlr voltage ancl cr-rrrent ratirrg
(ci) Norre olthe rtbove

ll" Arr electric heater is ratecl as 23A V .500 1,7.

arc. The value 230 7 rei'ers to

(a) average valr-re

(b) peiil< valr-re

(c) nns valr-re

(d; peak-tLr-peali vaiue

14. Fonn luctor. lirr tlc sr-rpplr volt;ige is aiwa,u-s

(a) zero
( b) Lrn itr
(c) intinity
(d) anr valLre betweerr () ancl I

l-5. Irr pr-rlelr resistivc circuits

(ir) porver tactor is zero
( b ) porver cc'rr-rsLrrnecl is zero
(c) por,rer lnctor is Lrnitl
(d) heat proclr-rceri is zeio

I6. If the suppll fieqLrenl ol a pr-rrely irtdr-rctive

circLrit is doLrbled. the circr-rit cLrrrent will be

(a) lralrerl
(b ) doLibied
(c ) sallle
(d) one-fbLirth

17. Power consLnred iu an ac circuit will bre

n,rinirnLlm when phase difl-erence betweert

cLlrrent anci applied voltage is.

(a) o"
(b) 90'
(c) 180"
(d) 30'

(a) lag behind the voltage by 90"
(b) lead the voltage by 90'
(c) remain in phase with the voltage
(d) none ofthese

19. A 10 gF capacitor is contrected across a l0 V

soLlrce. The steady state value of current is

(a) l0 pLA

(b) 106 A
(c) lA
(d) zero

20. A two port network is symmetrical if

(a) Zp = Z:t
(b) Z2 = 271

(c) 211 = 2..
(d) Zr: - -zzt

21. A resistor of 3 f2 is connected irt series with arr

indr.rctor of 9 H. TIre time constant ol the

circLrit is

(er) 3 seconds
(b) I 2 seconds
(c) l/3 seconds
(d) 21 seconds

22. The response of a tretwork is decided by the

location ol

(a) its zeros
(b) its poles
(c) both zeros and poles

(d) neither zeros nor poles

2

lB. In a pLrle capacitive circuit. the current will



23. Fr-rll scale cleflection cLrrlerrt ol arr arrmeter is

5A. Antnreter resistance is 3(). ln order to
nleasLlre a circr-rit cLn'l'ent ol'6A. the vrrlrre ol
shurrt ntust be

a)

b)
c)

(

(

(

(

Io
t()
3O
norre of the aboved)

24. The rrobilit_r ol an electrorr in a corrcluctor is
expressecl in tells of

1a1 cnrr/V-s
(b) crnr'V-s
(c,) cm:/V
1d) crnr/s

25. A BJT is said to be oper-ating in satr,rlr"tion
region rt.

(a) base-enritter lrnci base-collector
.junctiorrs al"e reverse biased

(b) base-erlitter.jr-rrrction is reverse and
base-collector-j r-rnction is lbrward biased

(c) base-erritter".j unction is fbrrvard and
base-collector j r-inction is reverse biased

(cl) base-erlitter ancl base-collector
.iLrnctions lrle tbru,lrd biasecl

26. A pernraneltt ntaqnet ntttving coil llleter call
be irseci tor

(a) ac onlr
(b) clc onll,
(c) botlr ac ancl dc
(cj) none oltlre above

27. An op-irlp has a comnron rrrode gairr of 0.01
and dittLrcntial rr-rode gain trl l0j Its CMRR
lvor-rlci Lre

(a) l0 "

(b) t0 r

(c) l0-
(d)10'

28. The logical expression Y = ABC + AB +
AAC is equivalent ro

(a\Y = A
(b)Y = B

(c1Y = ABC

@)Y = AB

29. If the rnemory cliip size is 256 x I bits. then
the nurnber of chips required to rnake iLp lK
bytes ol rnerlorl, is

(a) 32
(b) 24
(c) l2
(d) 8

30. A given power supply is capable ol providing
6 A tbr 3.5 hourrs. lts arnpere-hour rating is

(a) 0.58 Ah
(b)2.r Ah
(c) 2l Ah
(d) sB Ah

31. Arr ideal OP-AMP has

characteristi cs

the fbllowirrg

(a)Ri-,r,A=r,Ro=Q
(b) Ri = 0,A = x:,Ro : 0
(c)R,=a:,A=r,,fto=a
(d) Rr = 0, A :,;c, Ro = oo

32. The nurlber of valence electrons in
perrtavrlent inrpLrritv is

(a) |

(b) j
(c) 4
(d) s

33. In a bipolarjunctiorr transistor

(a) J] = a/ (u +l)
(b) B= n/(l-u)
(c) u = p/ (B-l )
(d) u: (p+l )/0

-)



i,1. In a 7 segrrerrt LED display. the nurrrber ol
se_qnrents activiltc(j to ciisplay' the number I is.

(a)5
(b) I

(c)2
(d) norre oltlre above

35. A The dc gairr ol a systenr lepresenled by the

trar.rst'er tirrrction 12 / {(.s + 2 )( s + 3)} is

(a) I

(b)l
(c) 5

(d) r0

i6. The tieclr-rency nt wlriclr phase angle is zero is

calied

(a ) corner'
(b) stability lirlit
(c) resonant
(d) none olthe above

37. In arr irltegral controller

(e) the oLltpLrt is proporlional to the inpuLt

(b) thc oLrti,rLlt is proportiorrtrl to tlre rate of
change oIthe inpr-rt

(c) the rate ot change of olrtpLlt is

proportiornl to the inpLrt

(ci) norre olthe above

38. A proportional controller is basical l,v a.

(a) an integrating armplifier
(b) an rnrplitier *.ith ad.jlrstable gain
(c) an anrplitier rvith infinite gain
(rl ) rtn "rrtrplilicr r,t ith zero Srirt

39. A systerr has its two poles on the iregative real

axis and one pair ol poles lies on 7r.,-r axis. The

system is

(a) stable
(b) Lrnstable

(c) lirritedly stable
(d) either (a) or (b)

40. For type 0 system and unit ran-rp input the

steady state error is

(a) o

(b) intinity
(c) I

(d) lltG

4l . Which of the fbllowirrg is not possible in

NAND SR flip-f)op,

(a)
(b)
(c)
(d)

42. PROM is

(a) pernrar-rent read only memory
(b) polarized read only rnemory
(c) prograrnmable read only memory
(d) positive read only memory

43. The hex nurnber 8E16 represents

(a) 10001 I I l2
(b) il00r 1 r0r
(c) 10001 I 101

(d) il00l1lll

44. The ASCII is the code tbr

S = 0,R:0
S = 0,R = 1

S = 1,R = 0

S = 1,R = 1

(a) alphabets orrly
(b) nurmbers only
(c) alpha-rrumeric and

syrr bo ls

(d) none ofthe above

other colrmon
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45. In NAND SR l'1ip-fiop no change occLrrs
clr-rring

S = 0,R = 0

S = 0,R = 1
c-1D/1J - 1, r\ - U

c-1D-1J 
- 

t, r\ 
- 

1

(a)
(b)
(c)
(d)

46. Whiclr ol'the logic circr-rit farrily has least
power dissipation?

(a) TTL
(b) ECL
(c) CMOS
(cl) norre ot'the above

47. Radio broadcast is generallv

(a) AM signal
(b) FM signal
(c) botlr AM ancl FM signirl
(d) neither AM or FM

48. The ciecibel is a rreasL.rre ol

(a) cr-rrrent
(b) voltage
(c) power
(d) power level

-19. The h'eqLrenc^r. ranse ol'100 KHz to 3000 KHz

(a) Lorv ti-eqLrerrcy
(b) MecliLrrn tieqr-rency
(c) High tleqr-reuc;-
(d) Very high freqr-rency

50. Wlrich ot'the tbllorvirrg is a digital trarrsclucer?

(t'r) strain gaLrge

(b) encoder
(c) tlrermistor
(d) LVDT
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